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Execiillves wera a

sked wheather or not they would remain with the company if they raceved a

better offe

ifferernt company
Length of Senice
Less than 1-5 Maore ihan
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Problem 7

A deli bar offors a special sandwich for which there is & choice of five different cheeses, four different meat
selections, and three differcnt rolls. How many different sandwich combinations are possible?

Prablem 8

Three scholarships are availeble for needy students. Their values are: 52,000, 32,400, and 32,000, Twelve
students have applied and no student may receive mere than one scholarship, Assuming all twelve sludents dre
in nced of funds, how many different ways could the scholarships be awarded?
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Problem 9

The baskethall corch of Dalton University is quite concerned about their 40 sraight losses. The fnistrated
conch decided to select the starting lincup for the DU-UCLA game by drewing five names from the 12

ayailable plavers at random. {Assume that 8 plaver can play &ny position. ) How many different starting lmeps
are possible’ { pre ol
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Exercise 5.5
:' Check your answers against those in the ANSWER Heart —
seetion, ' Attack
Five hundred adults over 50 vears of age wers classified Yes | No | Total
according to whether they smoked or not, and if they | Do not smoke 30 220 250
smoked, were they a moderate or heavy smoker. Also, ench | Moderare smoker il 65 125
one was asked whether ke or she had ever had a beart attack. | Heavy smaker (904 35 123
The results are given. Totals 180 | 320 | 500
i Fer i
-r~ (7{ 2. What is the probability of selecting & person who cither | @27 - g8y = A58 4 IXS == | &5 =
™ has had a heart attack, fr who is a heavy smoker? f ) e B B L s
n 5 = 125, .35 _ #e -+ 2
_‘}4&:— f"ﬁ' b, What is the probability of selecting a heavy smoker Fe0 " id5 ey [Frow |[* -2
/ who did not have a heart attack? "
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Problem 5 Amount of Purchasa

, Payment | B.:lessthan | Bx$20up | Bj: 550
A large department store 1s Method $20 to 350 | ormore | Total
analyzing the per-custamer amount 7T e 13 10 3 30
bty Ay Check 10 30 20 | &
el 7 B e
CUSIOIMIETS, £ Total 15 &l 45 {140 |

contingency table or cross-clazzifed

tabie presents the findings.

A. What is the prohability of selecting someone who puid by cm@:mﬁ@_qlgggbgggpﬁw

b. What is the probahility of sefecting someone who paid by check
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Problem 4 £ @

Yesterday, the Bunie Auto Repair Shop received a shipment nff-nu.r crrourstors. One is known 1o be defective.
If two are selected ot random and tested:

a. What is the probehility that neither one is defective?

b. What is the probability that the defective carburetor is located by testing two carburetors?
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Exercise 5.1
i Checl: your answers against those in the ANSWER seclion,
. - Mumber Mumbar
A study wos made to mvestipate the number of imes adult males of af Adult
oover A0 visit a phyvsician each yvear, The results Tor a sample of 3040 Visits Wales
WS Ll 30
| i
a2, What is the probability of selecting someone who wisits o 3 Ty
physician twice a year? |1 or mors 130
Tedal 30

b. What is the probabilitr of selecting someone who wisits a
physician?

Problem 2

A local community has rwo newspapers, The Merning Times is read by 43 percent of the houscholds, The
US4 Today i read by 60 percent of the households. Twenty perceat of the households read both papers.
What is the probability that a particular howsehold in the city reads at least one paper?
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Prablam 1

Dienn Pontiac has compiled the following sales data regarding the pumber | Dunn Pontiac Sales Data
of cars sobd over the past 60 selling days. Answer the followmg questiens | Numbar of Mumber of |
fior the sales data shown. Cars Sold Days
{ 3 |
a. What is the probahility that twe caes are sold during a 1 3 5
particular day? 3 T )
- b 3 20
b, What is the probehility of selling 3 or more cars during a 4 15
particular day? : B e 5
c.  What is the probability of selling =t least one car during a ol o
particular day?
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